Wl

e
i
&
w
o
ao

AN 5 AR EETE R T T R R R R S A E TR (55 2 %)

SRS EEEETHONHEEREENSFOMETHE (F25) I, RICED D
L2 ALK D,

(7% Nk 7 5 O #l IE)
F1k MARHOTROBBEICEARBZENLZN4, 000 THZEML., &%
AN THROBRELZSABRHENRENT, 861, 220 FTHEEDD,
2 WARHTEOMIEOKEDO X3 KON X5 Z & O M IE% O
AR TEOSFEIX, (1R BARHTEME] 2L 5,

G643 H 28 H RN

R R A



F1FE o A om M RO E
m A (B 2 FH)
= 15 B OIEE Bl 0 # 5 &
1 fRB&REL 1,342,862 920 1,343,782
1 NERBERR 1,342,862 920 1,343,782
2 BEXHE 1,762,907 1,000 1,763,907
2 BEmbhE 539,528 1,000 540,528
3 XIEER 1,917,868 1,080 1,918,948
1 TIEERfFE 1,917,868 1,080 1,918,948
4 LRHE 1,087,314 500 1,087,814
2 WHEshE 60,146 500 60,646
6 RAE 1,366,783 500 1,367,283
1 —mEtgAS 1,216,783 500 1,217,283
% A = Hi 7,857,220 4,000 7,861,220




(% H) (B 2 FH)
e =) W E B 08 i i it
3 I RIBEEEE 395,269 4,000 399,269
1 NEFR - £E8XE 195,081 4,000 199,081
Y—ERBEE
I3 tH & Ha 7,857,220 4,000 7,861,220




1. ¥ % 7SS SR T SO GO A = N 1 N 5 B

% A) (HAL : FH)
E i i o #E OE B

1 PR 1, 342, 862 920 1, 343, 782
2 [EFE S 4 1,762,907 1,000 1, 763, 907
RIS EP - e 1,917, 868 1, 080 1,918, 948
4 FRIH 4 1,087,314 500 1,087, 814
6 MAS 1, 366, 783 500 1, 367, 283
57 A = g 7, 857, 220 4,000 7,861, 220




G H) (HAL - 1)
Moo ®|m o WM W AN &R
N fil AT OB M OE & ¥ iE ) )
— i R
EH S He| || £ o i
3 M 395, 269 4,000 399, 269 1, 500 1,080 1, 420
HER
et AR 7,857, 220 4,000{ 7,861,220 1, 500 1, 080 1, 420




2. WA
i
B H L ) .
WM IERT O K| M E % 7t
X 4y & #E
EHE
L. PREE 1, 342, 862 920 1, 343, 782
1. IrfRmoE 1,342, 862 920 1, 343, 782
L. 81 59 1,342, 862 920 1, 343, 782 ARy 920
W 5 PRt
2. EEIH4 1, 762, 907 1, 000 1,763,907
2. [EEMB4 539, 528 1, 000 540, 528
2. MR 120, 293 1, 000 121, 293 B Sy 1, 000
E SNy
3. XHAFEA AT 4 1,917, 868 1, 080 1,918,948
1. RHFEERZ T4 1,917, 868 1, 080 1,918,948
2. Mg HE 63, 769 1, 080 64, 849| 1. HRAEFSY 1, 080
SR A4
4. #FE M4 1, 087, 314 500 1,087,814
2. H#AH B4 60, 146 500 60, 646
2. Mg HE 60, 146 500 60, 646| 1. ALY 500
R4
6. #Wh A4 1, 366, 783 500 1,367, 283
1 —RESFHERA S 1,216, 783 500 1,217,283
2. Mg HE 60, 434 500 60, 934| 1. HRAEESLY 500
ES 0PN




I RBEE 1 AR IRIRR

(A2 @ TH)

B A

(IR

1 FERIOI AR Rt 920
(R

1 MRS (#ETEL - BEERIEREFE) 1, 000
(I FERRRER)

1 RSB R4 1,080
(I FEORRRER)

1 MR E AR (N#ETE - BEAEXEREEE) 500
(I FERRRER)

1 MR EERAL (N#ETE - BEAEXEREEE) 500




= H W o W T 3 HEAE D FAIR R
# = |8 E & 4

3. Ml iR 395, 269 4, 000 399, 269 |[E#AF 3 4 1, 500
H5 &

ZOfh 1,080

— R 1,420

1. TR - TR 195, 081 4,000 199, 081|[E4l X 4 1, 500
By — 1 AHER H5 &

ZOfh 1,080

— R 1,420

L TG - £ 194, 518 4, 000 198, 518 | [E#k 3 Hi 4 1, 500
EXEy— H5 &

- Z D 1, 080

— TR 1,420

R H 4 1, 500
Hh 5 (%

Z DA 1, 080

— TR 1,420




3 WMEHRFER | T - AESR T - E A EER

(Bfr . TH)
i
5 ]
X 43 & H
19. A4, b 4, 000

B OBt 4

3 Jri#ETBh - IR — E AR

4, 000
(SRR
18 A4, fliBh K U5 (4 4, 000
1 AfHe

4,000




